1.2 X7 b 15

(ip-1) HABOEER (1.1) 256 HTH 2, (ip3) b/ LLADHEE (nl) 55,
(ip-4) ¥ =1 <cos§ <1 THLZ EPLHONTH S,
¥ 1.16 EDBEICOWT, (ip2) 2FML LS. @ = OA, b= OB, ¢ = OC &

U

> A

1.16 WD T 2 BB

L,b+c@=0D %%, £7, M B,C,D 585 OA T2 L ERBOLE Z
NFNFGH T2 (K116 4). 20L&, NEOEMMMER (p.13) 12X b,
(@b+ & = |OA||OH| T& 2. FKIC (@ b) = |OA||OF|, (@,¢) = |0A||0G|. ¥
7, b=CD kb |OF| = |GH| #R Y 2b, 45 O, F,G, H » i i 2 DT,
|OG| + |GH| = |OH| TH 3., BEDI &hb,

—

(@,b) + (d@,c) =|OA| |OF| + |0A| |0G
=|0A|(|OF| +[0G])
=|0A|(|GH| +|0G])
—|0A| |OH| = (@,b + &)

L%,

=ARER O
R7 MV aE, bR, [|a+b|? Z3HET 2. WP (ip-2) & NREOFIR (ip-4)
X0,

= —

=(@,@) + (@,b) + (b,d@) + (b, b)
=@ + 2(a@, b) + ||b]®
<@l + 2@l 1]l + 18]1* = (|l + [1])>.

la+b] >0 &b, fla+bll < @ + |Ib] 2135.

WD DRT

FHAZ BV @ = (a1,az), b= (b1, bo) DPIRE (a,0) 25, RIZHCTED L kD
ENZHHIND. X7 L VORGEROEED D, @ =016 + a28, b= b1&) + by &
HFB, 22T, €,6BZOERLY, TNEN/ VLB TRIMIZ T THIHD,
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FIE LT b

<€iagj>:5ij ks, 22T, 5ij 270Xy A—D 4§ L XiFn,

5.1 i=jot3)
YTl 0 (£ DEE)

TERINDIALETHD. ZOLE, AEOBBME (ip-2)(ip-3) £,

(@,b) =(a1€1 + az€s,b1€1 + baés)

—

:<a1€ ,b1€1 + b2€2> + <CL2€2, b1€1 + b2€2>

[y

=(a1€1,01€1) + (a1€1, b2€s) + (a2€s,b1€1) + (a2€s, baés)
=a1b1 (€1, €1) + a1ba (€1, E2) + agb1(€a, €1) + azba(Es, €3)
=a1b; + azbs
215,
S AN
r A& (-, ) DEDFRR ~
(1) FRiRZ PV @ = (a1, a2),b = (b, be) TR L,
<CY, [;> = a1b; + asbs.
(2) Z2fR2 PV @ = (ay,as,a3),b = (by,by,bs) IZKFL,
<6, g> = a1by + asby + azbs.
N _J
—AFOmEEENE
TARY PLTROAYZ ML G, DISHL, @=0A4, b=0B £¥%. Zok%, AOAB
DI IE
1 ~ - Lo
SV laR I — (.52 (12)

WCHELWI EERZ T,
GLbDORTAE O LTS, NAOAB DHERIE L|OA||OB| sinf £EHF%. 0<6<n7
XD, sinf>0Thsrhro,

1 1 -
§|OA| |OB]| sin 6 :§HEL’|| 16 /1 — cos? 6

T o —
=L i 18 = e 161 cos?0

1 . . 2
i =112 2 _ o
—2\/ Jall> 18112 ~ () 3]} cos 0)
1 ~ = -
= V1@l 52 - (@ B2

ERBIEBDDS,



17

1.3 FEE & ERR

1.25 ZENRYT MLOHNE

ExEME
NEEIZ 2 DDRZ VTR L TEEE NN ZE BB - 7208, ANEiT)k 9 i 2

DDREMRT PR L TZREBIR 7 P L2 WES 8 5HHETH %
EE 1.5, ERER %2 ED DR PV @ = (a1,a2,a3), b= (b1, by, bs) IZHFL,
a x g:(agbg — a3b2, agbl — albg, a1b2 — agbl)

_ a2 ag az ai ay a9
o Yo (2 )

by b3

EaLbONEE XA
@*ﬁ%%ﬁaﬁ@%ﬁ/\7 [NZ 51,52,53 %ﬁﬁﬁﬂ’\]bcxij ?—k&&‘a‘k, a= (al,ag,ag) e

b= (by, b, by) DI
& & @&
Gxb=det| a1 as as (1.3)
b1 b2 bg

ERTILEDHTES., CORANLELIRONEDOHEE 2T 2DICHEHTH 5.

1.3 HE & FEIRR



